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! Note :— 1
1. Part ‘A’ may be attempted in first 6 pages
of Answer Sheet. | | |
T % & g oo, SugiaE B 59T &
yeo] 7 & w7 &/
2. Part ‘B’ in rest of the Sheets of Answer
Sheet.
T & & IO, FTACGRaAHF F T W geIf F
lerf&dyr
3. Answers/may be given in English or Hindi.
g F¥7l & ¢ A orgar B=T T I/ y
Part ‘4’
T %’
1 Attempt any ten questions :— 10%x2=20
frdt @ 9l & SR fofed -
(1) Define modulation.
- T AR S |

(2) What is Transmission speed ?
FEROr My FT SR ¥ ¢
C-510 | - : . (P.T.0.)
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2K5-DS-3 (2)
(3) What you understand by communicatjop,
channel ? |
R A0 § T GHSAT oA § 7
(4) The main advantage of parallel transmission

1S weveeenrnenns )

(6) Full form of MODEM ............... .
MODEM & @ 919 .................
(7) Define FSK.
~ FSKufRwnftg &R |
(8) DefinePCM. :
* PCM Refys iR |
(9) What is bandwidth ?
v IIgiE T e & P
(1 9 What is parity bit ?
gaar e ®T ET & ¢
State True or False :— for Q. 11 to 14.
T 11 ¥ 14 T% F/50A Rt qams -
(11) Crosstalk happened when one line induces a
signal into another line. -
7 TP WET T W Rewwr 3R wedt 8, A
mra-2ie Refy omdr & | |
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(3) 2K5-DS-3
(12) All devices on the synchronous link must be
set to the same clock. v
TABINE T 9 g giaat, g & agi X A2
BIeit & |
(13) In serial mode multiple bits can be sent at a
time.
B s § e fie, uw & v F (ara &) w9
ST gehd |
(14) Period is defined as no. of cycles per seconds. -«

ST &, 6 9T qhvs &7  IRART & T |

2 Attempt any\five-questions):< Sx4=20
| st a9t wsll % ST [y -
(1) Differentiate'lbetweencSyn'chronous and

Asynchronous Transmission ?

JTIHhIAeh TUT AAHBITAE AR T =T
ferferar |
(2), What is a crosstalk ?

HIg-2feh oaT 8l & 7
(3) What are the different possible encoding

techniques ?
g7 |
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2K5-DS-3 (4)
(4) Differentiate between Analog and Digital
transmission.
TARET T4 SAifhehta §aror § st R |
(5) Differentiate between attenuation and délay
~distortion.
S qur Rere-freger § sz R |
(6) Explain Protocol Analyzer ?
TSIl TSRO & TSR |
(7) What is Packet ? Explain its format ?
B T BT & 7 F9BT BT TS |
(8) Whatis Handshaking ? Explainyits need ?
“‘ T BT SRS P SH SHASaehaech] ST

HIRTA 1
Part ‘B’
arr ‘&

Attempt any three questions :— 3%X20=60
fedt i Te It & ST ol -

3 (a) Whatis transmission media ? Explain optical
" media in detail ? |
el HIfSar T 8T & 7 JHshg Hifsar &r
) & goiv /I |
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(5) 2K5-DS-3
(b) What is modulation ? Explain Amplitude

modulation with waveform ?

W@?wm%?w'q@waﬁm
R T |

4 (a)

Explain the Shann_on Theorem. Find the

channel capacity (maximum data rate) if the
bandwidth is 4000Hz and signal to noise ratio

is 30db.
T THY B 1w HRE | 2000 B Yus-Hrer
4T 30db & Rrer o IR g Y 9w enien
(STierenrn StisT k). ST SRR |
(b) Explainf Digital~to Analog modulation
| (Keying) ?-Expldin Phase shift k€ying with
waveform.
Hifpwra & waralT #Agaa (HArgT) =t
FAARY | Bl fOaa HoiET & qOEdl & 91"
BEEIEC

5 (a) What is error detection and correction ?
"~ Explain CRC method ?
i gEa qar Gevuw Far €ar & ? CRC faftr &
o HIRA | |
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2K5-DS-3 (6)
(b) What are transmission lines ? Explain its

various characteristics.
TEROT ATE T Bt & P g9enl AT fasieanett
TS Hf |

6 (a) Differentiate between simplex, half duplex and
full duplex communications.
Ry, ordf-gey agr QUi-gwed JEIO Hr
<R GHHEY | |
(b) Explainvarioussignal formats.

= e /etHE s auire S 1

7 (a) Explain TDR and OTDR method of cable

testing.

g qUET TDRa?:TOTDRﬁfEm’r T qui
HIfeT |

(b) Explain Centronic interface with its signals.
Jifre S=d & quiv @ el & 9
T |
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